
2 2  4

L.O) I can use bus stop division 

2 4  8 2 6  2

2 8  2 2 6  8 2 4  0

2 2  6 2 4  2 2 8  8

3 3  6 3 6  9 3 9  0

3 3  9 3 6  6 3 9  3

3 9  6 3 3  0 3 9  9

No exchange



3 7  2

L.O) I can use bus stop division 

5 9  5 4 7  6

5 7  0 4 5  6 5 6  5

4 9  6 6 9  0 4 8  0

4 9  2 6 7  8 5 8  0

7 9  8 3 6  6 7 9  1

4 8  4 3 3  6 2 7  8

With exchange



3 9  8

L.O) I can use bus stop division 

5 8  8 8 9  7

4 7  1 2 9  9 7 9  5

9 9  5 6 7  5 5 9  7

5 5  9 2 6  9 9 9  4

8 8  6 7 8  8 6 8  2

4 5  0 3 7  9 7 8  0

With Remainders


